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Lecture Delivered Under “Padhai Tuhar Dawar” by

Dr. Rita Diwan ,
Assistant Professor (Sociology)

https://www.youtube.com/watch?v=pUz39WbEK60

https://[www.youtube.com/watch?v=nlzrUHvyZ2g8

https://www.youtube.com/watch?v=EpsOghCcOhY

Lecture Delivered Under “Padhai Tuhar Dawar” by

Dr.Nidhi Mishra,
Assistant Professor (English)

https://yvoutu.be/MBYx6j0AEho

https://yvoutu.be/gDQtVDWD3DI



https://www.youtube.com/watch?v=pUz39WbEK60
https://www.youtube.com/watch?v=n1zrUHyZ2g8
https://www.youtube.com/watch?v=EpsOqhCcOhY
https://youtu.be/MBYx6j0AEho
https://youtu.be/qDQtVDWD3DI

HISTINRA Dl ADIC

Nature Of Sociology




N\

THTSIINA Dl U

C

| Nature Of Sociology |

TSRS Ueh fasie & iifd 599 dsif-id Ugfad &l YIRT fhar SIrdar & | st )

deTf=rhl ¥ 59 9ag ¥ Aqd f=ar urs 9l & o qurerems fasi= © a1 J80 |
“ fagm fagme €1 € dre 98 Wifdd I H 8 AT JHORIRE § ¢
s

“Science is science whether it 1s in physics or soctology

~ Landis
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* “science goes with the method and not with the subject matter”

8 ~ Stuart Chase, The proper study of mankind
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* “The unity of all science consists only in its method not in its material”

. Kartl Pearson,The Grammar of Science




FHOIRRA A9 & 94 jéf[Sociology as a Science]
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* 1—dgie Ugld &1 YART [Use of scientific method |

* 2—HHATSRIAN =9 JH0T TR MR [Sociological knowledge is based on evidence]

° 33— § BT 4TI [Study of “What is ]

* 4—ql BT BRI Vg fdgelvvl[categorisation and analysis of facts]

* 5—%R] —PHRU Feel bl FRAT [Explanation of cause-effect relationships]
* 6-Rigid— 4191 [Theory building]

° 7QmEISTd Rgidl o guvlen [Verification of social principles]




* 8-9fd=garll ®¥1 H W& [capable of making predictions]
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* 1-awgfssdr &1 3w [Lack of objectivity]

° 2-\MHIfSie gemsl @l Sifeeldl [complexity of social phenomenal]

°* 3.t gedRll & uRad-eiedl [Dynamic nature of social events]

* 499 ¥ BfeTs [Difficulty in measurement]

* 5-gANTTST 61 3¥rE [Lack of laboratory]
* G-I "Rl H AEwIAe I &I 3491 [Lack of universality in social

Phenomena |

THHTSTIRS Aiasarol o= § EHd[sociology is incapable of prediction]




fospy [Conclusion]
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FHeemE &1 Iydiitar [Use Of Sociology]
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1—EToIeE @1 Hgifde sy Theoretical Use of Sociology]

a9 1 s [knowledge about society]

ST a1 Sreardell o 5 [Knowledge about terminology related with society]
Jsiie gfteaior &1 fawrg [Development of scientific outlook]
| gRReIfal 3 samas [Adjustment with social environment]

vV v v v Vv



» faxga gfeaior &1 faes [Development of broader outlook]

> IS Siae &1 aEg FaRll &1 59 [Knowledge about general problems of
social life ]

» gRaiRe Siied ud |i1ed R [basis for family life and organization |



AR &1 gagiRd STAar[Applied use of
sociology]!

1—=afdd & forg 78w [Importance for individual]
2—ATATINTG TR & |4 H weras [Helpful in solving social problems]

3—qe vd §4e & folw A [Importance for community and society]
4-ggreie "ee [Professional importance]

5-amifeie e # 78w [Importance in social planning]

6-=rg —fHr § wera [Helpful in nation-building]

8-=ifar ek # w8 [Importance in policy-making]

9-a=RIftey |Ag¥d de H "g@d [Importance in increasing international co-
operation]



fFrepy [conclution]
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Correct the Sentence

(Some Basic Rules)

Prepared by
Dr. Nidhi Mishra




=This rule states that the verb
used in the sentence should be
in accordance with the subject.

="That is to say that verb and

(1) Subject—

subject both should be plural
Verb

Agreement

or singular at the same time.

="Example — The boy was

working (Singular)

The boys were working (Plural)



Some basic rules

for Subject Verb
Agreement :-

= In case of collective nouns like Army,
Police, Herd etc, the verb used is
singular.

= For subjects connected by ‘and / ‘or’
plural verbs are used.

= [f the sentence begins with
each/anyone/everyone, a singular
verb is used.

= For the sentences that contain either
/ or , neither / nor, the verb used will
be singular if both the subjects are
singular.

If, one or both the subjects are plural,
the plural verb is used.



(2) Repitition

=In a sentence, it is unnecessary
to write the same thing twice.

=Example — Mohan returned

back from Raipur. (Incorrect)

Mohan came back from Raipur.
(Correct)




(3) Errorin
Modifiers

=" Modifiers modify the subject. So it is
important that modifiers are placed
next to the subject it modifies.

= Example — Sitting in the garden, a
dog bit him. (Incorrect — because we
can’t figure out who is sitting in the
garden, the dog or the boy )Incorrect

= Sitting in the garden, he was bitten by
a dog. (Correct)



(4) Parallelism

=" Parallelism in a sentence refers
To the correct structure of the
sentence. That is to say that, the
different phrases / words
performing the same function
should be in the same format.

= Example — Ram likes to dance,
sing and reading. (Incorrect)

= Ram likes dancing, singing and
reading. (Correct)

= Ram likes to dance, sing and
read . (Correct)



*"Error in diction refers to the
error in choice of words /
phrase. Some verbal phrases,
1dioms, can also occur in a
sentence in an incorrect way.

(5) Errorin
Diction "Example — affect / effect
= Adopt / adept / adapt
"Their / there

= Argue against / argue with

"Few / less



(6) Wrong
Comparisions

= Sometimes, the comparisions are
made between dissimilar things
Or in an incorrect way.

= Example — Sheila is wiser than all
girls. ( Incorrect)

= Sheila is wiser than all other girls.
( Correct)

" (Here, Sheilla needs to be
excluded from the rest of the
same category as the
comparision is made in
comparative degree)



" Overall, we need to ensure that
_ different parts of speech like
noun, pronoun, conjunction,
interjection, verbs, adjective,
Conclusion adverb is used correctly and
placed correctly in the
sentence. Sometimes, mistakes
can occur in capitalization and
punctuation also.




*Thank You
*Dr. Nidhi Mishra




